ool xt — 3x2y? + 4yt = (¥ + axy + by?)(x?
cxy+dy) L, a+b+c+d 2 WS ot (a,b,c,d=

2~
4

_|_
)

(__i__/u

_|) — x4 + 4x2y2 + 4y4 _ 7x2y2
= (x2 +2y?)2 - Tx%y?

= (2 + VTay + 2y%) (* - VTxy + 2°)
“a+b+c+d=14




2 ABC O Al 2] 4o a,b, ¢ Aolell a® + a®b - ac® + ab® + b° -

1712

e
.

0

(a+b) (a2 +b? —c2)

a’ —|—b2 =2 (

a+b+0)




x2_2x_y2+2y_§_ [ BN =]

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4




o2 & oFA] 1t - 8x2 — 99 )l=7f ofd A2
® x-3 @ x+3
® x2+1 @x2+9

® x*+3x2+x+3

9

@ xXPx+3)+x+3=(x2+1)(x+3)




5.  ©IA (x-1)° + 275 Bt=A deEefiet A7

® (x-1)( +3) @ (r-1)(-x-2)
® (x-1)(x?+3x+3) @ (x+2)(2+x+7)
@(x—i— 2)(x% = 5x + 13)

+3)(A2-3A+9)
(x+2)(x% = 5x + 13)




I
RS

ol

4x2 4 2x + 12 YRS o

A 8 - 18

6.

Q-1 @0 @ 1 ® 2

O -2

x)3-13 = (2x— 1) (4x% + 2x + 1)

1




19993 + 1

7. (a+1)(az_a+1):(134—1%0]%—8}&] mg‘ e

Fotofet.
>

> HEeH 2000

B ~
a = 19992} st
19981999+ 1= (a—1l)a+1=a*-a+1
) 19993 + 1 at+1
T 1998%1999+1  a2—a+1
(a+1)(a*>-a+1)
B a2-a-+1
=a+1=2000




O ZHAHS 0|85t 4] »* -2 4+ 5x -3 x - 1=
RS o] Sy E Aot Aot & A7) HE2 A
AdH A2

© T x-1, A 1

@ F:x-1,4HA 4

@ F:x?-x—-4,4YHA 1

@%ixQ—x+4,l%D111:1

® & x?-x+4, 4R x-1

~&B

ZHAME o]-8shd

111 -2 5 -3
1 -1 4
1 -1 4 1

L4232 +5x-3=(x-1)(x2-x+4)+1
TFebA] 2 x? - x + 4, UHAE 1




X3 —4x? +x+62 A4-2NHH (x+a)(x+b)(x+c) °Ith a®+b°+¢?
o] gk= F+stofet

flx) =’ -4x® + x+ 602t F O,
x=—-12d,-1-4-14+6=0
b, f(x) = (x + 1) 2 o] gojHdt,
fx)E (x+1)9 A5 ZHE=

f(x) = (x+1)Q(x) 5
O(x) = XHAH LR 3l
1|1 4 1 6




10. x®-6x2+11x- 62 ASES) 51H?

D (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)

@ (x4+1)(x+2)(x-3)




i
re,
>
Eha
:%
_0|L
rg

D

]_ ]_ . Eg'/‘—} - -
"4 ax+a bx—b
y y

(:) x(a - b) (:) a— b X—=Yy
: a l: a l X y)

ax+ay—
y bx—byia(x+y)—b(x+
= (a=b)(x+V) !




12, a®b+b%c - b3 —a’c& JA5-Eloa?

@ (a+b)(a-b)(b+c) @ (a-b)(b-c)(c+a)
@ a-b)a+h)b-o) @ (a-b)(a+b)c-a)
® (a=b)(b+c)(c—a)

a?b + b%c - b® — a’c
=a’(b-c)-b*>(b-c)
=(a-b)(a+b)(b-c)




13.

(2 + ) (3" +x+ 1) - 65 AL 3BHE?

@ (- 1)(x+2) (2 + 2+ 3)
® (x=-2)(x+1)(x*+x+3)

® (x+1)(x—2)(x* - x+3)

@ (x-1)(x+2)(x* +x-3)

@ (x-1)(x+2)(x* —x+3)

B

x? +x = X2t shat

(F4) =X(X+1)-6
=X’+X-6
=(X+3)(X-2)

=(x2+x+3) (2 +x-2)
=(x-1)(x+2)(x*> + x+ 3)




